
Nr 1 2 3 4 5 6 7 8 Pkt Satz PL

1 3 : 0 3 : 0 3 : 0 3 : 0 3 : 0 3 : 1 3 : 0 7 : 0 21 : 1 1

2 0 : 3 3 : 1 3 : 1 0 : 3 0 : 3 1 : 3 3 : 0 3 : 4 10 : 14 6

3 0 : 3 1 : 3 3 : 1 2 : 3 3 : 1 0 : 3 3 : 0 3 : 4 12 : 14 5

4 0 : 3 1 : 3 1 : 3 0 : 3 0 : 3 0 : 3 1 : 3 0 : 7 3 : 21 8

5 0 : 3 3 : 0 3 : 2 3 : 0 3 : 1 3 : 0 3 : 0 6 : 1 18 : 6 2

6 0 : 3 3 : 0 1 : 3 3 : 0 1 : 3 3 : 1 3 : 0 4 : 3 14 : 10 3

7 1 : 3 3 : 1 3 : 0 3 : 0 0 : 3 1 : 3 3 : 2 4 : 3 14 : 12 4

8 0 : 3 0 : 3 0 : 3 3 : 1 0 : 3 0 : 3 2 : 3 1 : 6 5 : 19 7

Name Name Erg. Name Name Erg.

1.R 1 - 8 Jürgen Munk - Tino Greve 3 : 0 4.R 1 - 4 Jürgen Munk - Peter Schwäbe 3 : 0

2 - 7 Steven Schulz - Helge Sorge 1 : 3 5 - 7 Martin Schüler - Helge Sorge 3 : 0

3 - 6 Kathrin Schulze- Siegbert Busler 3 : 1 5.R 3 - 8 Kathrin Schulze - Tino Greve 3 : 0

4 - 5 Peter Schwäbe - Martin Schüler 0 : 3 2 - 4 Steven Schulz - Peter Schwäbe 3 : 1

2.R 1 - 2 Jürgen Munk - Steven Schulz 3 : 0 1 5 Jürgen Munk - Martin Schüler 3 : 0

3 - 7 Kathrin Schulze- Helge Sorge 0 : 3 6 - 7 Siegbert Busler - Helge Sorge 3 : 1

4 - 6 Peter Schwäbe - Siegbert Busler 0 : 3 6.R 7 - 8 Helge Sorge - Tino Greve 3 : 2

5 - 8 Martin Schüler- Tino Greve 3 : 0 3 - 4 Kathrin Schulze - Peter Schwäbe 3 : 1

3.R 1 - 3 Jürgen Munk - Kathrin Schulze 3 : 0 2 - 5 Steven Schulz - Martin Schüler 0 : 3

2 - 8 Steven Schulz - Tino Greve 3 : 0 1 - 6 Jürgen Munk - Siegbert Busler 3 : 0

4 - 7 Peter Schwäbe- Helge Sorge 0 : 3 7.R 4 - 8 Peter Schwäbe - Tino Greve 1 : 3

5 - 6 Martin Schüler- Siegbert Busler 3 : 1 3 - 5 Kathrin Schulze - Martin Schüler 2 : 3

4.R 6 - 8 Siegbert Busler- Tino Greve 3 : 0 2 - 6 Steven Schulz - Siegbert Busler 0 : 3

2 - 3 Steven Schulz - Kathrin Schulze 3 : 1 1 - 7 Jürgen Munk - Helge Sorge 3 : 1
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